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Performance Instructions

Instrument

Oboe, French horn

General
4 quarter tone lower
i quarter tone higher

(>) > A accent (weak, normal, strong)

A )\ [ fermata (short < 1 sec, normal 1-3sec, long > 3sec)

Dynamics

All dynamics are to be understood as relative dynamics.

ppp thus means “play as soft as possible”, fff means “play
as loud as possible (but not in a distorted way)”

air noise

without mouthpiece, without metal tube
(high pitch = all keys open,

low pitch = all keys closed)
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———> ehrn, without mouthpiece
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11.

J-10

oboe, without mouthpiece
(whole movement)
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